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: .  PART-IV (b)
SOCIAL STUDIES
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-‘91. The sun rays fall vertically on the

92,

93.

Tropic of Capricorn on this day.
(1) June, 21 |

(2) March, 21

(3) December, 22

(4) September, 23

(2) w3821
(3) cowtn 22
(4) et 23

Andhra Pradesh extends 'betwéen
these northern latitudes.

SOSEOE e SBY WFFOTY D5 V0o

(1) 10°36' and 20°54"
(2) 13°37' and 19°54
(3) 11°36'and 18°57"
(4) 12°37' and 19°54'

The conventional sign used to
"indicate 'oil well'ona mapis ..........

- (1) '@'-addition symbol in a circle

(2) U addition symbol

(8) '='—two parallel lines

(4 'O —circle syzhbol

W-121/TET-311-EM/TM

Sess0st (TR BRSNS &SarAcE:
POSTPOLE DTG vveenrmreens

(1) '@ — S EFEE 10

(2) '+ — XPEI IO

(3) '=' —Boti SuroBsipes

@) 'O~
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94.

95.

96.

The time taken for the light from
the sun toreach the Earthis .............
(1) 2 minutes

(2) 6 minutes

(3) 10 minutes

(4) 8 minutes

BIEROD GRS TGS 930 SR0H0 ...
(1) 2 Jdosces '

(2) 6 dDssace

(3) 10 dg0en

(4) 8 DasgHsoes

The lower layers of the atmosphere
are heated by .........

(1) solarradiation

(2) terrestrial radiation

(3) the transparency of the
atmosphere

(4) the amount of cloud cover

TS (EoB s BN T wa) .
(1) dE23BesRS

2) ZrD8tes0

(3) TPTFSUE? FEEHSEE

(4) Ropores esEROOTD eSD5ENRI

When the temperature decreases,
the atmospheric pressure ..........

(1) increases

. (2) decreases

(3) becomes heavier

(4) neutralizes

260 BRSH, TTR3ED BE ...
(1) BEsHsEsed
(2) BB
(3) exbonEy,&ol
(4) Besgen Yoenct
PP.O.
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97.

98.

99.

-
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The highest waterfall in the world
- SO

(1) Angel

(2) Niagara

(3) Victoria

(4) Jog

BSoted’ J@onedso ...
(1) Deud N

(2) Baurio

(3) a§oosr

@) £%

'Chinook'is an example for ...........
(1) seasonal winds

(2) local winds

(3) trade winds

(4) planetary winds

(D7 @:5050 BE STHTEES ...
(1) 2o0080 Sepmand

 (2) s wEsBoes

(3) TG SHSE0
(4) (S S

A wide semicircular indentation of
a shoreline formed by the sea waves
is called as ............

(1) bay .

(2) canal

(3) canyon

J(4) delta

R 0o THOP E550T0 DB DHES
S DOETED  GrSIrSSNn 3o

BOOKLET @

100. The layer that reflects the radio

101.

102.

[20]
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waves back to the surface of the
Earthisthe ................

(1) troposphere

(2) ionosphere

(3) mesosphere

(4) stratosphere

CED> HBoRweD Frib P8 SoNEse
=ou it L TR .

(1) Lﬁes:’:dmc

(2) oFestme

(3) aofesnbeso

(4) !;3;255&5‘{36&::

The normal salinity of ocean water

k
3
r
D
J

& Goss;, Derbies SRS .......

(1) 33%
) 37%
(3) 35%
@) 7.2%

90° E longitude passes through the

center of this continent.

(1) Asia

(2) Europe
(3) Africa
(4) Australia

90° &5y Ogredo &+ pokic WGbeT

e
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103. 'Sphinx'is a/an ...... Ly
(1) idol with a human head and a
~ lion's body
(2) preserved dead body
(3) playground of Europe

(4) nomadic tribe

(2) ZEsson i Ese
(3) =8> Srolime

(4) ST

104. This country is c_:alled as the land of
a thousand lakes.
(1) Venice
(2) Switzerland
(3) Norway
(4) Finland
254 D), oo 80y THTT? DD ...
(1) DA%

*.5 GragEees

@
(@) 35008
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105. The southern grasslaﬁds of taiga
are called as ....... il
(1) velds
(2) savannas
(3) pampas

(4) steppes

Sren  Smom  &oh  NGGRLTRL

106. ........ forms the boundary of Egypt on
the east.
. (1) Nile river
(2) Mediterranean Sea
(3) Red Sea

(4) Sinai peninsula

(1) Db
(2) Bosgor SaooEse
(3) ~E S

(4) 2oro BgsSoypow

[21] AL TTREe.
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107. The Paurava kingdom was between | 110. '‘Bronze' is an alloy of these two
these rivers. metals. 4
= . (1) iron and copper
(1) rivers Chenab and Jhelum (2) copper and tin
(2) rivers Sutlej and Jhelum (3) iron and tin
(3) rivers Beas and Ravi (4) copper and bauxite
(4) rivers Jhelum and Beas Sous B+ Soth §53%0 o,
S TPesgo e D00 B &oih. (1) goess S0t o°h
(1) SondS 5080500 00 15800 B0 (2) oeh 2oCatiae BT
2) ggg mm Lo S500 m% (2) gactes [bokss BiiSe
(3) DOUPD B0CI0 T 50 P08k (4) oA 000K gy
(4) oo Bl DOIFR HE0L Wi 111. The inscriptions were started during
' i ‘this period in India.
108. 'Ghatikas' were................ (1) Pulakesin-II
(1) seaports (2) Kharavela
(2) educational institutions (3) Ashoka
_ (4) Samudragupta
(3) granaries
-~ £ o %9 s
(4) Eigricultural lands o 5{9«3‘%@& TR ™ J‘@ES:) bﬁg‘ecé{'
POoEE0a0B.
‘ 3
Soede ‘E.‘J:')J;ﬁ:) ........................... (1) Botss oz
(1) L8900 @) rsSens
o
e e 3) wifom
e>ebb]
(SN RtacD (4) SBoSHRE
(4) Sgros 070000 s
112. The major income source of
109. The Delhi sultans divided their Satavahanasis...............
| kingdom into ....... : (1) tax on profession
@) Subahs : (2) tax on seaports
5 S Shis (3) tax on roads
(2) onigs (4) tax on land
(3) Iqtas
__1(4} Miuktic FIEETETIRRD [T ESTTFAICRTE0 el
; Aln (1) S =[3n
& orimes BR TER) 300 RETE ..... S erees B
(1) Sogres (2) Lo ey
(3) gsren - (4) g5 2%
(4) Soofen
[22]
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113.

114.

The first Indian National Congress
meéting was presided by ..........

(1) Feroz Shah Mehta

(2) A.O. Hume

(3) Womesh Chandra Banerjee

(4) Dadabhai Nowroji

oS US OOH SO SETeTRS
RO RFOTI TS e

(1) FEZ

(2) 9. &. S

(3) &R DB TY

(4) oy T6E

This battle marked the begining of
the establishment of British power
in India.

(1) Battle of Plassey

(2) Battle of Buxar

(3) Battle of Panipat
(4) Anglo-Maratha wars

Te a¥asio EBoRes” D% efsse
(DPELRSTI8 e D308,

(1) o cxise '

(2) e5wb aiwie

| (3 T T

“115.

- g1ftET-311-Ean _

(4) aoﬁ:—;‘.oc‘sv osoTren

Solar and lunar eclipses were
scientifically explained by .........

(1) Brahmagupta ' :
(2) Varaha Mihira -

~(8) Vasumitra -

(4) Aryabhatta

RS, VoBIRTETRES THowoT DSOS |

- IR

(1) [osyiodyss
(2) soo DRt
(3) SooEe
(4) et

BOOKLET @

116. The Governor—General who

117.

(23]
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encouraged the quick development
of railways in India was ...............
(1) Cornwallis

(2) William Bentinck

(3) Wellesley

(4) Dalhousie

55 B50d’ T BRGNS PR S0
PSRl Ko B-2506. '
(1) oS>0

(2) Ddoo Boedes

(3) e

(4) &F%

The annual session of the Congress

decided to boycott the Simon

Commiission because ............ s

(1) not a single Indian was given
place in it '

(2) Muslim League was not invited

(3) all important leaders were
arrested

(4) Lala Lajpat Rai was injured

Sofss TQE BEFSEOS’ PSS KRS’

o el BoTred Jaots SHERE e

T30,

(1) 2, groSosadSer o SDensiato

(2) o0 Ditsiso esidDons ko

(3) S0 TODOoNEE eSO SUNEe

(4) orer opd® Trobo a0

P.T.O.
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The opening of the Suez Canal
reduced the distance between these
two countries.

(1) England and Egypt

(2) England and India

(3) England and Italy

(4) India and France

BIOHE Tress Do 0 DUR B0t
Bare Sols Ete Bhod.,

(1) zoliots, St

(2) zeliet, gotaie

(3) molicts, qué

(4) golosr, P39

Kanishka assumed this title after

defeating China.
(1) Devanampriya
(2) Devaputra

(3) Priyadarshini
(4) Errachera

ooE Do PREID BURG K@
Polis DES:. ' -

(1) SFodon  (2) BsdHEoe

(3) Boed @) &3

The founder of the Chalukya
dynasty 1S ........coe..e

(1) Pulakesin-II
(2) Mahendra Varma-I

"~ (3) Jayasimha Vallabha

118. According to 1909 Act, this was | 120.
introduced by the British
Government in India.

(1) Separate constituencies were
allotted to Muslims

(2) Separate electorates were
extended to Sikhs

(3) Provincial autonomy was
granted

(4) The British could arrest any
Indian without mentioning the
reason

1909 (DS @5y a0 $0800D G55

B%06° (S By 05898 ... 121.

(1) Sosdeets B QTR $TPe STHe

(2) Lok (EBE DBres Wove T

(3) U‘QUES‘ Sqotive PUD et

(4) 8 Do pEAO
QT eHoR 0D P

119. The viceroy who invited Nehru and
Jinnah to form an inte_r:im
Government in India was......... _
(1) II'W]II 122.
(2) Mountbatten
3)_Sir Stafford Cripps
(4) Wavell _
FESBH08° TEDE (BT, Ty
SN DTS BRSNS SHDoD0 PR,

(1) 30w

(2) aFeSered

(3 5655 8%y

@) =6 _
[24]
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(4) Narasimha Varma-I

TR 0T P s
(1) BotHHes

(2) Dooesed sirols 5,

(3) wmoWteie Hegnts

(4) o053 S0 BB,
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123. 'Religious freedom' is a/an

124.

(1) economic right

(2) social right

(3) moral right

(4) legal right

0% i) I, IO e
(1) 05 iy,

(2) e s,

(3) 385 TPy,
() DR

This is not an executive power of

the President.

(1) Appointing the Election
Commissioner

(2) Implementing the Acts passed
by the Parliament

{(3) Issuing ordinances when the
Parliament is-not in session for
the welfare of the country

(4) Making treaties and agreements

with foreign countries

¢ (300 TS TFHS TERTEE $RTT0
S -

(1) 2950 St DaRoowE

(2) FRsows  LIFBOID  BPORD
| ool

(3) Fgocen WS Bt ©F
Sogive S eBNs epold
8B

(4) 388 Bvof wbhooress, Bofoeds |
. = & : - 2

_ _W-m 1/TET-311-EM/TM

125.

126.

. [25]
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The word, 'socialist state', has been
added in the preamble through this
amendment.

(1) 41 amendment

(2) 44/ amendment

(3) 43" amendment

(4) 42" amendment

(BSoTeS Tresge? eBiSese Treol (S53X6°
B S350 THT Whwdod.

(1) 41 % &S50

(2) 44 S 830z

(3) 43335506

(4) 42 53556

The Mughal emperor who
encouraged learning by granting
rewards of stipends to scholars was -
(1) Shahjahan

(2) Akbar

(3) Aurangzeb

(4) Jahangir

SoEEeRs T RO WoeTD 2505:&0

. _-Icv_sm YEITR0 (FPopTronD 7;).:33’:3&:: DESS

(1) pessstioo
(3) Lotz

(2) efo
(4) essSofico

P.T.0.
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127. Right to Information Act came into
forceon ......... |
(1) November 14, 2005
(2) June 15%, 2005
(3) October 12t 2005
(4) October 1%, 2005

SEPTRE Sv, 1530 eoendfi 555G . ..
(1) 145590082005

(2) 15 % %5 2005

(3) 125 es§%5 2005

(4) 1% eS%to 2005

128. This is not included under the
violation of human rights.

(1) Cruelty to domestic servants
(2) Employment generétion

(3) Denial of right to information
(4) Female infanticide

ST e éego;ﬁ:‘:) S oo evoiso.
(D oo spErtse
@ ed0se

(3) Samons s B, Botises

@) stvevoins '

W-121/TET-311-EM/TM

129.

BOOKLET 0

The meetings of the Rajya Sabha
are presided bythe ......... |
(1) President

(2) Prime Minister

(3) Speaker

(4) Vice-President

. OPESE SR Eor s el SRAORITRD.

130.

[26] -

(1) TR

@) o

(3) 3555 |

(4) aisogse

The allowances paid to the ex-rulers
of native states (privy purses) were
abolished by .........

(1) Indira Gandhi

(2) Jawaharlal Nehru

(3) Morarji Desai

(4) Lal Bahadur Shastry

(2) esbord o
(3) :w:ové o

°

Q) =& mﬁws 7

Lif
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131. 'Khondalite' stone is found n .........

(1) Guntur district
(2) Chittoor district
(3) North Andhra districts

(4) Telangana districts

(PROLBS’ TNl BB (@PoBo ...
(1) oot ,ée::‘

(2) Dz B

(3) &85 esoip Egen

(4) Doomer Egres

132. This is an example for "form utility'..

(1) Shifting the goods from the
production point

(2) Raw cotton converted into cloth

(3) Satisfying human wants

- through services

(4) Purchasing the stock and selling

at a later stage

ERIEETTIS STEES .o

(1) SopUse BATTS  (Fods ook

SO
(2) DA Sood Bsiow B
(3) e oo wssSTose Byso
(4) 555550 Ssoffen B, Jews BB

a;’::@tio

-

133.

134.

[27)

BOOKLET @

Dr." Amarthya Sen described
Economicsasa ..........

(1) study of man and his-\-ve}fare
(2) science of choice

(3) science dealing with wealth

(4) welfare science

TN SREON ST 3T VGG ...

. (]_) [3,053‘33—\.3.» rJCHO\;‘J :-LJ 30

=

(2) Soss

5 So0folN weio
A —

(3) RPoRE Scwefiodn TP

(4) $ede T

The longest national highway in
Indidais......eee

(1) NH.7

(2) N.H.3

(3) N.H.6

(4) N.H.8

255508 SRS B0 BT ....ovvv
(1) 7 550wt S0
(2) 9% onts ERTed
(3) 65508t BITE

(4) 8% Sonths BrTrd

P.T.0.
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135. An example for intermediate goods | 137.

(1) cbﬁton
(2) machine tools
(3) fertilizers

(4) watches

BGHIIE FRPOE ST ..o
(1) 32858

(2) oo So5TRew

(3) Mspes

(4) K&cSrorew

136. Demand curve represents the | 138.

functional relationship between .....

(1) guantity supplied and price of
the commodity

(2) price and amount demanded

(3) amount produced and quantity

~ supplied

(4) quantity supplied and amount

‘demanded

Garot HESP DTG PedowerrR)

(1) 5500 Doioeadess Boogo Bodas W&o
-

(2) &5 So0ckn Srrots Dokeds oo
(3) &5y BRotedss Rasde Sobaiby BT

NAzES Ao
(4) S50 DobeadsoRoTo SO Gt
BAEsd Ao
W-121/TET-311-EM/TM ' (28]
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The minimum number of members
required to form a private limited
companyis..........

onide ODBRE Son0d® doteseld ¥
SSE050 50D - wenvenens

(1) 5

2) 3

3) 2

(4) 4

This sector indicates the direction
of modernization in the Eéonomy.
(1) "Secondary sector

(2) Primary sector

(3) Agric_ulture sector

(4) Tertiary sector

es0% BE%D POESER BP0,
(1) BB Solfo ‘
(2) (05 Torio

(3) Sgorad Solio |
(4) Bdow Soro

P P —"
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139. The purpose of introducing History

140.

. W-121/TET-311-EM/TM

as one.of the core elements of

teaching social studiesis............

(1) to hélp children to establish
cause and effect relationship.

(2) to understand other subjects in
social studies without History is
difficult.

(3) to provide scope for enjoyment.

(4) to help children understand and
appreciate our rich cultural
heritage.

Fopos TP’ WO &F BeES

DREROTT TRReE® e ETEED .. v

(1) =%, SeteRsoecgreiss Wrarcbowed
dergioets gyt

(2) BOB Sssor Jopok T DHOUSHeR
ESTIOTOD DB 06 ALY

(3) esdoBoin esisvio Koo

(4) So% D% Bodonsy
TESBGEOSS TRy onof®
edSebomne:

g
0
o5
-
L]
©
ur,

Curriculum and syllabus are .........
(1) both stage-wise
(2) both class-wise

(3) stage-wise; class-wise

(4) class-wise; stage-wise

50505 Sodcks howhes . ...

(1) B> Poedir Gowra

(2) Boks BENSTEM SotFoss

(3) bgmmam, BUNS PO oo
(4) B6HS o, igwﬁ;v EOTON

141.

142.

BOOKLET @

"Supervised study is the effective
direction and oversight of the silent
sty oo " This was defined
(1) Maxwell

(2) Panton

(3) Comenius

(4) Wesley

“édﬁ D BGOU00 WU (DD NOBaD
BPRgEse ot B0 5T .:5;:»3&
SOOI +eevees » 59 QEWORD T,
(1) srERé

(2) Joed

(3) SParanh

(4) 2%

The difference between aims and
values are given below. Identify the
statement which is not correct.

(1) Aims are ideals not based on
experiments; values are the
result of experimentation.

(2) Aims are the expected outcomes;
values are the desired goals.

(3) Aims are based on philosophy,
values are based on reality.

(4) Aims are conscious goals; values
are the results achieved.

Bz ($0D esHaireXs Sobo¥es Jevded
Bossgiie Poren SE7S0ER. T8 B

&35 T, KBo0s.

(1) estotres B AUTHEOD e,

DeHen HETN ABTHe POTTE

2 (2) esEoYren e3R008 POTPe; Jevnen

i [29]

SRt marges

(3) essciiren THOS LPU0; DONI0 THIE
esrto

(4) essosires DHTErD m‘:::‘éw, Desded
e539082 POTPeR

P.T.0Q..
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143. The approach followed in arranging

144.
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a curriculum in the reverse order
1s called the ..............

(1) regressive approach

(2) chronological approach

(3) concentric approach

(4) unit approach

B0K DTELOS’® S0BeDS et
GRAIPAOD0 EHIL0A .......... ..

(1) SEmsos ésmacim

(2) SPoETvLND EhmnED

(8) D5Sos ediiasas

(4) PR &SN

To show the organization of a city

administration and relationship

between the executive, judiciary

and legislative, the Lype of chart |

(1) reiationship chart
(2) tabular chart

(3) chronblog‘icz‘il chart
(4) flow chart

25 BN %8 es 555;53%9-; Sa0cks |

gvﬁsaqmm, 5o BoBots FD Sgsfe
RS S02eEEDN o HeUERD

(1) Soecrrom SFIoHTRE
(2) sdsvorti
(3) ToE® =5

. 4 ST

145.

146.

[30]
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The un_iversaﬂy accepted symbol to
represent spaceisa............

(1) photograph

(2) map

(3) chart

(4) grapiﬂ

L¥ (BE000 Srbhotoety JES¥ern
SATOCLIED VTP ..o

(1) PS5

(2) s

(3) =8

(4) ™

Microteaching is a scaled down
training tec_hni_que 1n terms of the ..
(1) size of umit

(2) size of the class

(3) size of class, unit and time

(4) time

BrHE%0 O B woTelh bowchod
SOOBDES FYEFAE ..vvv.e..

(1) oS wosressa

(2) SUKS $ORFea

(3) BSscke, OONS S0 oHrIS

20R2oPe20

. (4) SHocusne

1«




147. Monitoring how a -child

148.

is
progressing towards realization of
an objective is the function of this
type of evaluation.

(1) Formative evaluation

(2) Summative evaluation

(3) Programme evaluation

(4) Diagnostic evaluation

OEIEIET w8 DB HEN® Jerac

BeoRLEo. Er OEISD RAPGROEIJ0IDS

ESAATFAILD.

(1) JTeFES Soreroldhne
(2) SO DrerEEIHD

(3) SPE(SB0cuLS SHATFORENIE
(4) E8ITTer ST ENTHD

"A student collected data and
prepared a brochure on the methods
of water harvesting." This refers to
the realization of this objective.

(1) Appreciation

(2) Attitude

(3) Skill

(4) Interest

He2.% DB Dot BED BRRTTY

DEBoD o wEsP3Ee (brochure) S
BATETICH? ~ e8I s of JFESDH
Dotoas |

Q) e

W-121/TET-311-EM/TM

@) 290
(3) gRme
(@) ‘ehwd

149.

150.

[31]
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The meteorological instrument that
can be kept in the social studies
laboratoryisa ............c...

(1) divider

(2) chain

(3) barometer

(4) box compass

LOROHB OB ...........
(@) Fests

(3) Gl
(4) =8, soidm et

National Voters Day is celebrated

(1) 15* March

(2) 25% January

(3) 28™ February
(4) 1** November

Lo =D

2SO BT HysE

(1) 155575

(2) 25523530

(3) 28 % Wb

(4) 1%6s0ed

P.T.0.
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